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QUESTION 1

Review the following model:
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Based on the model shown above, which table(s) will exist following a build generated database?
A. EntityOne and EntityOneExtension

B. EntityOne only

C. EntityOneExtension only

D. The build will fail because extending an entity is not allowed

Correct Answer: B

QUESTION 2

Which two of the following are valid options for model-specified validations? [Select 2]
A. Maximum_Value

B. Maximum_Chars

C. Minimum_Size

D. Starts_With

E. Ends_With

Correct Answer: AC
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QUESTION 3

Suppose that a new Process class has been created in a model and a build generated command is performed. What
needs to be done next?

A. Implement the methods in the generated impl version of the class.

B. Copy the generated impl class from the build/svr/gen/temp folder into the impl package.
C. Create a new class in the impl package.

D. Implement the modeled methods in the base class.

Correct Answer: C

QUESTION 4

Which of the following are valid non-key stereotypes for entity operations?
A. nkdelete

B. nkread

C. nkinsert

D. nkremove

E. nkreadmulti

Correct Answer: BDE

QUESTION 5
Which of the following statements are correct?
A. After making modeling changes in RSA, build generated will be required, but build database may not be necessary.

B. It is not necessary to stop the Server in Eclipse after making changes to the model in RSA, but it may be necessary
to refresh the Server project in Eclipse.

C. The user should be able to view the application\\'s starting page, providing at least Tomcat is running.

D. Irrespective of whether the Server is launched before Tomcat, or Tomcat before the Server, the application should
still behave correctly in the browser.

Correct Answer: AD
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